Multiplication et Division par 0,01 (A)

Trouvez chaque produit ou quotient.

5,4997 x 0,01 = 2,7751 = 0,01 =
9,58 + 0,01 = 5,403 x 0,01 =
6,14 +- 0,01 = 8,4504 - 0,01 =
9,6 X 0,01 = 6,9344 - 0,01 =
3,8328 X 0,01 = 2,67 +-0,01 =
7,4645 = 0,01 = 1,1 x0,01 =
4,8+ 0,01 = 7,692 - 0,01 =
7,4+ 0,01 = 8,808 ~ 0,01 =
1,37+ 0,01 = 6,1517 = 0,01 =
6,13 X 0,01 = 7,479 - 0,01 =
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Multiplication et Division par 0,01 (A) Solutions

Trouvez chaque produit ou quotient.

5,4997 x 0,01 = 0,054997

9,58 = 0,01 =958

6,14 +- 0,01 =614

9,6 X 0,01 =0,096

3,8328 X 0,01 = 0,038328

7,4645 + 0,01 = 746,45

4,8 +- 0,01 =480

7,4+ 0,01 =740

1,37+ 0,01 =137

6,13 X 0,01 =0,0613

2,7751 = 0,01 = 277,51

5,403 x 0,01 = 0,05403

8,4504 + 0,01 = 845,04

6,9344 - 0,01 = 693,44

2,67 +0,01 =267

1,1 x0,01=0,011

7,692 + 0,01 =769,2

8,808 = 0,01 = 880,8

6,1517 = 0,01 = 615,17

7,479 =~ 0,01 =747,9
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